www.konkur.in

VAV FF L AIAL - ol acibda (LS

Y a3y K (FY Jlsme

RaPt = mgh 300 X 60 = 60 X 1 X (0.25x)  x =120 ¥ 4uX (FY Jisu

(45 x 21) + 60 = 1.57 oA =2m ) AR (P Je

muu-i(wd\,u

2 2
. 5 16 5 m 5 k m v, ¢
WAL =326 _ S5_m (_) kr _m2 (_2) v ay £ (Yo Jl
Al 1kg s my PRl 4 it by P m1>< o S (Fo g
\ vtV 1 3 3
Gl Qs CS a Py, = 122 Sa=--a=- VA R (FF Jsm
T T T _ 7540
\9‘0&‘11 vaVZ - 2
5 N _
i 7 b —-7.5-15 Vap1 222'5
/ Uavl = —_— = 75 = —3
—7.5 7/’ 2 Vav2 >
-15
(35)%k—(15)2k=20-> k=2,a=4 Y4 X (YVJsm
v
xX(m) .
6
Yo
|
|
2 | .t
3.5 5
a5 J
) T\i/a t(s)
(1.5)%k  (3.5)%k

JERRtE] JER NS

Telegram: @konkur_in




www.konkur.in

b

0 | Ay =-gt? > 128 =2x10xt? > t = 165 Vg K (FA U sm
|

1 16

Y4y R (P4 Jlse

t(s)

F—t nighw: AP = mAV Fay R (0 g
F(N) AP =32 =44V - AV =8
A _4dv 8 m
Gav =71 =5 g2

16

2x8=
1x6=6

AP = 10

° t(s)
)

Fay R (8) Jlsw
04x10=4 Ph=04x0=0 Ghialis P=my Y4y K (8Y Jlse

1 5 . g
t=25- x=0.05cos7”=0—>oby)5)4—> Vmax T 425 (&Y J) s

1 ,  17120\/5 ,
Vmax = Aw = k = Em(Aa)) - E(W) (E X 2011) X 1000 = 607

Y ay K (0F Ul g

Telegram: @konkur_in




www.konkur.in

=300 > 1 =200cm = 2m =2 x 10°nm ¥ X (20 Jism
1= %100 3 x 10° 3 x 10° 15 4 €
- — = - = — 1. o 3
7 7 f=ox100 v

Yoy R (07 Jlsw

¥y K (0 Jlsw

00— 4 zsadshyiolisS 5 4zsedshpynul )4y (0A Jlsm

1+143=83+59+x—> x =2 Y445 (8% Jl s

1 1 1
1 19
25 16 00
_m _  17x107%
P== Sm(8.4x10716)3
2
v="=_ Cxisd=25 Cx4
2c da 4
5 4 0
a3 q2 50uc

50uc +25q, =0 - q, = —2uc

=717 %109/ 3 FauR (7 Jsm

¥oau K (7)) Jlse

P Yk (7Y s

¥oay K (7Y O s

Telegram: @konkur_in




www.konkur.in

Srh sV =e—1rI> 6=9—7(1.5) > r=2n Y au K (FF Jism

s AP =¢el—r[>?=9x%x15-2(15)?=9

2 99%99 _pL _v? _99%x99 _ 0 Y an € (50
AcD % Toox100 R_A_>P_R_)P_100><100_ /02 3 (70 s
50 50 Y au R (7 Jisw
=25 30~ Te0+90 ~ **
3 4 12
F

gT\%cLuALI ?Mg)'g(?\/d\)u

4

F=BILsing=5x107°x4x 103 x 102 x 2= 10v3 ) 4 (A Jism

Fau K (79 Jlse

2 =z
1
P, = 65cmHg x 1360 = 88400Pa P, + 51:26'8 =755 ¥4y & (VY Jsm

Telegram: @konkur_in




www.konkur.in

C

—>T=500=CC B

3000 1200
> 22 = 600 = ¢y

Q = mcdé Y‘A.x,ug (VY‘ I g

A->22 450 =0,
4

Y4y K (VP Jlse

2= B =BT, =309.4 =364° Y 4w (Yo Jism
2

Telegram: @konkur_in




